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(i) tan35° (ii) -1 (iii) O (iv) tan55° (v) 1
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sin86°

(i) 1 (ii) O (iii) tan86° (iv) tan4° (v) -1

tan52°_

cot38°

(i) -1 (ii) tan38° (iii) tan52° (iv) 1 (v) O
cot2°

6. =
tan88°

(i) 1 (ii) tan2° (iii) tan88° (iv) -1 (v) O

. sec48° _
" cosecd2°

(i) tan48° (ii) tan42° (iii) 0 (iv) 1 (v) -1

cosec66°® _
sec24°

(i) tane6° (ii) O (iii)) 1 (iv) -1 (v) tan24°

sin85°cos70° B
" cos5°sin20°

(i) tan85° (ii) -1 (iii) 1 (iv) tan70° (v) O

co0s22°sin45° _
" sin68°cos45°

(i) 1 (ii) tan22° (iii) tan45° (iv) -1 (v) O
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tan44°cot24°
cot46°tan66°

(i) tan24° (ii) 0 (iii)) 1 (iv) -1 (v) tan44°

cot71°tan31°

tan19°cot59°
(i) 0 (ii) tan71° (iii) tan31° (iv) 1 (v) -1

sec55°cosec34° _
cosec35°sec56°

(i) O (ii) 1 (iii) tan34° (iv) tan55° (v) -1

cosec84°sec8°
sec6°cosec82°

(i) tan8° (ii) -1 (iii) 1 (iv) tan84° (v) O

sin26° — cos64° =

(i) 2sin26° (i) O (iii) -1 (iv) 1 (v) 2sin64°

co0s21° — sin69° =

(i) 0 (ii) 2sin69° (iii) -1 (iv) 1 (v) 2sin21°

tan40° — cot50° =
(i) 2sin40° (ii) 1 (iii) -1 (iv) O (v) 2sin50°

cot83° —tan7° =
(i) -1 (ii) 2sin83° (iii) 0 (iv) 2sin7° (v) 1

sec60° — cosec30° =

(i) -1 (ii) 2sin30° (iii) 2sin60° (iv) 0 (v) 1

cosec8l° — sec9° =

(i) 2sin81° (ii) O (iii) -1 (iv) 2sin9° (v) 1

sin50°c0s49° — cos40°sin41° =

(i) 2sin49° (ii) 2sin50° (iii) 0 (iv) -1 (v) 1

c0s79°sin4° —sinl11°cos86° =

(i) -1 (ii) 2sin79° (iii)) 1 (iv) 0 (v) 2sin4°

tan74°cotl11° — cotl6°tan79° =
(i) 2sin74° (ii) 1 (iii)) -1 (iv) O (v) 2sinll°

cot82°tan22° — tan8°cot68° =
(i) 0 (ii) 2sin82° (iii)) -1 (iv) 2sin22° (v) 1

sec35°cosec37° — cosec55°sec53° =

(i) -1 (ii) 2sin35° (iii) 0 (iv) 1 (v) 2sin37°
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cosec88°sec56° — sec2°cosec34° =

(i) -1 (ii) 2sin56° (iii) 0 (iv) 1 (v) 2sin88°

sin45°cos60° + cos45°sin60° =

M v+ 2ve) () (Zva+ve) (i) (Sv2+3) (iv) (-1\/'2+-13'6) W (Sva+lve)
Vg VT g VR D R va VR I Ve WA YeTy 4 "4

Find the value oftan50°tan30°tan40°tan60°

(i) undefined (ii) -1 (iii)) 1 (iv) 0 (v) 2

Find the value ofcot25°cot20°cot65°cot70°

(i) O (ii) 1 (iii) 2 (iv) undefined (v) -1

2 2
sin 60° + sin 30°

2 2
cos 50° + cos 40°

(i) -1 (ii) undefined (iii)) 1 (iv) 0 (v) 2

sin40°cos50° + cos40°sin50° B
sin15°cos75° + cos15°sin75°
(i) o (i) 2

(iii) undefined (iv) -1 (v) 1

sin41° + cos69° =

(i) sin41° + sin69° (ii) cos49° + sin21° (iii) cos41° + sin69°

cos34° + sinl4° =

(i) sin56° + sin76° (ii) sin56° + cos76° (iii) cos34° + cos14°

tan25° + cot51° =

(i) cot65° + tan39° (ii) tan25° + tan51° (iii) cot65° + cot39°

cot42° + tanl7° =

(i) tan48° + cot73° (ii) tan42° + cotl7° (iii) cot42° + cotl7°

sec80° + cosec58° =

(i) cosec80° + sec58° (ii) sec80° + sec58°

cosecl6® + sec70° =

(i) sec74° + cosec20° (ii) secl6° + cosec70°

(iii) cosec10° + cosec32°

(iii) sec74° + sec20°

(iv) cos49° + cos21°

(iv) sin34° + cos14°

(iv) cot25° + tan51°

(iv) tan48° + tan73°

(iv) cosec1l0°® + sec32°

(iv) cosecl1l6° + cosec70°
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